
Year 6 Maths Homework – Week 2 
Choose a column to complete (A, B or C)  

A B C 

3468 + 457 =  

578 + 2346 

6,790 + 999 =  

53,678 + 235 =  

5688 – 346 =  

8983 – 999 =  

5479 – 3462 =  

2679.5 – 252.5 =  

4678.26 – 2456.72 = 

123,652 + 3469.5 = 

6281 + 19,169 =  

7566 + 7999 =  

3469.89 – 2345.22 =  

35,721.53 – 236.34 =  

542,456 + 3456 =  

243,579 – 25,467 =  

78646.52 – 2154.1 =  

2469.87 + 26,677.2 =  

7829.99 – 7829.97 =  

29,288 – 17, 288 =  

Can you explain how you can solve 

the last two questions mentally? 

89,665 + 357.6 = 

738,920 – 7882.5 =  

178,902 + 3582.8 = 

1,286,402 – 28,087 =  

2,786,290 + 674,290 =  

1.456 – 0.78 =  

347 – 127.8 =  

278.7 + 2134.45 =  

134,672 + 9,999 =  

12,456,145.78  – 456,000 =  

Can you explain how you can solve 

the last two questions mentally? 

 


